SCE EVENTS PLOT FOR FINAL (200000 window) SCE events= 505
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SCE EVENTS PLOT FOR FINAL (1e+06 window)
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SWITCH EVENTS PLOT FOR FINAL Organism=Mus_musculus

0.01

chrl

0

chrll
Quality filter=20

chr2

chrl2

chr3

chrl3

chr4

0.2
chrl4

chr5

chrl5

chr6

chrl6

0.01 0
chr7 chr8
0 0
chrl7 chrl8

Aneuploid chromosomes 0

Switch events= 45

0 0

chr9 chrl0
0 0 0
chrl9 chrX chrY

Normalized counts / Mb =0.01 Scale = 0.19



chrl

chr6

n= 37

chrl6

chrY

chr2

n= 26

chr7

n=41

chri2

n= 35

chrl7

n=40

chr3 p=0.034 (0.64 adjusted)

n=37

chr8

n=39

chrl3

n=37

chrl8

n=41

chr4

n=34

chr9

n=40

chr14

n=38

chrl9

n=48

chrb5

n=30

chr10

n=32

chrl5

n= 36

chrX






